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— supermesh
T, TFf o current Sowru s contained \n two meshes
or is nof wonnecked n ponallel with o resistfomce wWe Cam
creake o_super mesh uhich excludes Tha current sourc

ama omny series elements.,

Weike KVL. for Jupermesh ‘us»}aér LACM\C‘ iB,
Write one addihonad &qoucdnon
\S:-.. Lp— B

Solve.



Example | Find 1o 0% mesh mno.ﬁxés\s S

3K
% xL \'o
<4

e +mmsﬁrno.hon 1 ge‘\‘ rnd of the current sowrca .

W & souwn

= R{ZMA\ (‘H’-)

— = guolts

kL (2 for mesh A: —5 + 30001, + zooo{A—ZOoo]B + looo fA =0

kv@-;or— mesh B!+ 2000]6— 2000 {ﬁ + 5000 ‘)B-\- 4000 iB +33=0

Standarnd *Corm ‘
oo O \A — 20001 = S

~2000 1, +1 000 ig = =8
So\umra C&\U&S \IA = O, L290 mA

EB= -0, 6129 mA

Now do KCL@ hode T determine 1o
\ ' N _\ -0
> A +ip— g
tim ‘ ~
@.(;zﬁo) -\ —(—o.c,a'z_‘i) =

\,= 06290 +0,6127=1.2HImA



Example 3-9
beL rnesh -current eivu&hc:ns ‘% 'Cmd

%}Qf

Sihe we howe a current souwres ‘\5) which 1§ isolated

supermes f .

o
+
Yo

01

the mesh current iﬁ=i

However, we hawe a  current Souna 1 UJ\'\\E\\ « contouned
\n Two mes\r\es Wrile o svper mesh cxroum& K
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